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QUESTION 1

A network administrator wants to use Aruba AirWave to audit an AOS-Switch configuration. What is one requirement? 

A. The switch defines the AirWave IP address in its zero touch provisioning (ZTP) profile. 

B. The switch specifies the AirWave IP address for the RADIUS server used for Telnet and SSH authentication. 

C. The switch is authorized in AirWave, which has the correct credentials to log in as a CLI manager. 

D. The switch is set to Manage Read-Write mode in AirWave but is not set to Monitor Only + Firmware Updates. 

Correct Answer: B 

 

QUESTION 2

A network administrator can set the OSPF metric type on an AOS-Switch to Type 1 or Type 2. What is the difference? 

A. A Type 2 metric marks external routes that can be advertised in NSSAs, while a Type 1 metric marks external routes
that can only be advertised in normal areas. 

B. A Type 2 metric assigns cost to a 100 Gbps link, while a Type 1 metric assigns cost 1 to all links of 100 Mbps or
higher. 

C. A Type 2 metric is assigned to multiple external routes that are aggregated together, while a Type 1 metric does not
permit external route aggregation. 

D. A Type 2 metric stays the same as the external route is advertised, while a Type 1 metric increments with internal
OSPF link costs. 

Correct Answer: D 

 

QUESTION 3

A company deploys AOS-Switches at sites with inexperienced IT staff. The main office network administrators want to
monitor thresholds to generate alerts on branch switches. 

What should be set up for this purpose? 

A. an SNMP trap 

B. an RMON alarm 

C. an auto-config server 

D. an sFlow instance 

Correct Answer: A 
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QUESTION 4

Refer to the exhibit. 

Switch-1 runs BGP. What should the network administrator do to permit Switch-1 to establish a neighbor relationship
with Router-1? 

A. Configure 192.168.1.2 as a neighbor manually within the BGP context. 

B. Specify 192.168.1.0/30 with the network command in the BGP context. 

C. Enable BGP on VLAN 100. 

D. Set the BGP AS number to 46501. 

Correct Answer: A 

 

QUESTION 5

How far do OSPF link state updates (LSUs) for Type 1 (Router) and Type 2 (Network) LSAs propagate? 

A. to every OSPF router in the local area 

B. to every OSPF router in all areas 

C. to every OSPF router in the local area and the backbone 

D. to every OSPF router in the network to which the LSU applies 

Correct Answer: B 
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